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Discussion: Coulombic and Non-Coulombic Electric Fields
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Clickers: Changing B Field
Q22.1a . _

iy v At the origin, what is the
’ E direction of AB?
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Y At the origin, what is the
~.4%  direction of - AB/Ar?
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Q22.1¢
The magnet is moving in the At the origin (inside the coil),

+z direction, away from the what is the direction of
coil. . —dB/dt?
| A) +y
B) -y

C: +z
zero magnitude




Q22.1d

The magnet is moving in the
+z direction, away from the
coil.

At location A, on the y-axis,
inside the wire, what is the
direction of the non-Coulomb
electric field?

B) x
C) +y
D)z
E) zero magnitude




Q22.1e
The magnet is moving in the —z | At location B, on the x-axis,
direction, toward the coil. inside the wire, what is the
direction of the non-Coulomb
electric field?
A) +x

“+v

-y
D) +z
E) zero magnitude




Y B=<05,020>T What is the magnetic flux
Ne ” through the rectangle?
/ 7&/ / / ’ A)0.2 Tm®
/ B) 0.5 Tm’

D) 3.0 Tm’
E)4.2 Tm®
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Discussion: Faraday’s Law .@-l},-—‘:’ Sﬁ'\ﬁﬂlﬁ'
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Tangible: Table Flux
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Ponderable: Faraday’s Law Exercises
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